*f***-Kenmotsu manifolds with the Schouten-van Kampen connection Ahmet Yıldız and Ahmet Sazak**

Education Faculty, Department of Mathematics, Inonu University, Malatya, 44280, TURKEY Science Faculty, Department of Mathematics, Mus Alparslan University, Mus, TURKEY

a.yildiz@inonu.edu.tr; a.sazak@alparslan.edu.tr

Abstract The object of the present paper is to the study 3-dimensional f-Kenmotsu manifolds with the Schouten-van Kampen connection.

Introduction

The Schouten-van Kampen connection is one of the most natural connections adapted to a pair of complementary distributions on a differentiable manifold endowed with an affine connection [2, 5, 14]. A. F. Solov'ev has investigated hyperdistributions in Riemannian manifolds using the Schouten-van Kampen connection [15, 16, 17, 18]. Then Z. Olszak has studied the Schouten-van Kampen connection to adapted to an almost contact metric structure [10]. He has characterized some classes of almost contact metric manifolds with the Schouten-van Kampen connection and he has finded certain curvature properties of this connection on these manifolds.

On the other hand, let M be an almost contact manifold, i.e. M is connected (2n+1)-dimensional differentiable manifold endowed with an almost contact metric structure (ϕ, ξ, η, q) [1]. As usually, denote by Φ the fundamental 2form of M, $\Phi(X, Y) = q(X, \phi Y)$, $X, Y \in \chi(M)$, $\chi(M)$ being the Lie algebra of differentiable vector fields on M. For further use, we recall the following definitions [13], [3], [1]. The manifold M and its structure (ϕ, ξ, η, g) is said to be: *i*) normal if the almost complex structure defined on the product manifold $M \times \mathbb{R}$ is integrable (equivalently $[\phi, \phi] + 2d\eta \otimes \xi = 0$), *ii*) almost cosymplectic if $d\eta = 0$ and $d\Phi = 0$, *iii*) cosymplectic if it is normal and almost cosymplectic (equivalently, $\nabla \phi = 0, \nabla$ being covariant differentiation with respect to the Levi-Civita connection).

As is well known a 3-dimensional Riemannian manifold, we always have R(X,Y)Z = g(Y,Z)QX - g(X,Z)QY + S(Y,Z)X - S(X,Z)Y $-\frac{\tau}{2}\{g(Y,Z)X - g(X,Z)Y\}.$ (9) In a 3-dimensional *f*-Kenmotsu manifold *M*, we have [11] $R(X,Y)Z = (\frac{\tau}{2} + 2f^{2} + 2f')\{g(Y,Z)X - g(X,Z)Y\}$ $-(\frac{\tau}{2} + 3f^2 + 3f')\{g(Y,Z)\eta(X)\xi - g(X,Z)\eta(Y)\xi$ (10) $+\eta(Y)\eta(Z)X - \eta(X)\eta(Z)Y\},$ $S(X,Y) = \left(\frac{\tau}{2} + f^2 + f'\right)g(X,Y) - \left(\frac{\tau}{2} + 3f^2 + 3f'\right)\eta(X)\eta(Y), \quad (11)$ $QX = (\frac{\tau}{2} + f^2 + f')X - (\frac{\tau}{2} + 3f^2 + 3f')\eta(X)\xi,$ (12)where R denotes the curvature tensor, S is the Ricci tensor, Q is the Ricci operator and τ is the scalar curvature of M. From (10), we obtain $R(X,Y)\xi = -(f^{2} + f')\{\eta(Y)X - \eta(X)Y\},\$ (13)

Conharmonically flat 3dimensional f-Kenmotsu manifolds with the Schoutenvan Kampen connection

In this section, we study conharmonically flat 3-dimensional f-Kenmotsu manifolds with respect to the Schouten-van Kampen connection. In a 3dimensional f-Kenmotsu manifold the conharmonic curvature tensor with respect to the Schouten-van Kampen connection is given by

```
\tilde{K}(X,Y)Z = \tilde{R}(X,Y)Z - \{\tilde{S}(Y,Z)X - \tilde{S}(X,Z)Y + g(Y,Z)\tilde{Q}X - g(X,Z)\tilde{Q}Y\}
```

```
If \tilde{K} = 0, then the manifold M is called conharmonically flat manifold with
respect to the Schouten-van Kampen connection.
  Let M be a conharmonically flat manifold with respect to the Schouten-van
```

Hence $\nabla_{e_1} e_3 = -\frac{2}{z} e_1$. Similarly, $\nabla_{e_2} e_3 = -\frac{2}{z} e_2$ and $\nabla_{e_3} e_3 = 0$. (38) further yields

$$\nabla_{e_1} e_2 = 0, \qquad \nabla_{e_1} e_1 = \frac{2}{z} e_3,
 \nabla_{e_2} e_2 = \frac{2}{z} e_3, \qquad \nabla_{e_2} e_1 = 0,
 \nabla_{e_3} e_2 = 0, \qquad \nabla_{e_3} e_1 = 0.$$
(39)

From (39), we see that the manifold satisfies $\nabla_X \xi = f\{X - \eta(X)\xi\}$ for $\xi = e_3$, where $f = -\frac{2}{z}$. Hence we conclude that M is an f-Kenmotsu manifold. Also $f^2 + f' \neq 0$. Hence M is a regular f-Kenmotsu manifold [20]. It is known that

> $R(X,Y)Z = \nabla_X \nabla_Y Z - \nabla_Y \nabla_X Z - \nabla_{[X,Y]} Z.$ (40)

With the help of the above formula and using (40), it can be easily verified that

 $R(e_2, e_3)e_3 = -\frac{6}{2}e_2,$ $R(e_1, e_2)e_3 = 0,$ $R(e_1, e_3)e_3 = -\frac{6}{2}e_1,$ $R(e_1, e_2)e_2 = -\frac{4}{2}e_1,$ $R(e_3, e_2)e_2 = -\frac{0}{r^2}e_3,$ $R(e_1, e_3)e_2 = 0,$ (41) $R(e_1, e_2)e_1 = \frac{4}{r^2}e_2,$ $R(e_2, e_3)e_1 = 0,$ $R(e_1, e_3)e_1 = \frac{0}{2}e_3.$

The manifold M is called locally conformal, cosymplectic respectively almost cosymplectic if M has an open covering $\{U_t\}$ endowed with differentiable functions $\sigma_t: U_i \to \mathbb{R}$ such that over each U_t the almost contact metric structure $(\phi_t, \xi_t, \eta_t, g_t)$ defined by

 $\phi_t = \phi, \quad \xi_t = e^{\sigma_t} \xi, \quad \eta_t = e^{-\sigma_t} \eta, \quad q_t = e^{-2\sigma_t} q$

is cosymplectic (respectively almost cosymplectic). Olszak and Rosca [11] studied normal locally conformal almost cosymplectic manifold. They gave a geometric interpretation of f-Kenmotsu manifolds and studied some curvature properties. Amongothers they proved that a Ricci symmetric f-Kenmotsu manifold is an Einstein manifold.

By an *f*-Kenmotsu manifold we mean almost contact metric manifold which is normal and locally conformal almost cosymplectic.

In the present paper we have studied some curvature properties of a 3dimensional f-Kenmotsu manifold with the Schouten-van Kampen connection. The paper has been organized as follows: After introduction we have given the Schouten-van Kampen connection and f-Kenmotsu manifolds. Then we have adapted the Schouten-van Kampen connection on a 3-dimensional f-Kenmotsu manifold. In section 5, we have studied projectively flat a 3dimensional f-Kenmotsu manifold with the Schouten-van Kampen connection. In section 6, we have considered a conharmonically flat 3-dimensional f-Kenmotsu manifold with the Schouten-van Kampen connection. Finally we have given an example of a 3-dimensional f-Kenmotsu manifold with the Schouten-van Kampen connection which is verified Theorem 1 and Theorem

The Schouten-van Kampen connection

Let M a connected pseudo-Riemannian manifold of an arbitrary signature $(p, n - p), 0 \le p \le n, n = \dim M \ge 2$. By g will be denoted the pseudo-Riemannian metric on M, and by ∇ the Levi-Civita connection coming from the metric g. Assume that H and V are two complementary, orthogonal distributions on M such that dimH = n - 1, dimV = 1, and the distribution V is non-null. Thus $TM = H \oplus V$, $H \cap V = \{0\}$ and $H \perp V$. Assume that ξ is a unit vector field and η is a linear form such that $\eta(\xi) = 1$, $g(\xi, \xi) = \varepsilon = \pm 1$ and

```
and (11) yields
                      S(X,\xi) = -2(f^2 + f')\eta(X).
                                                                      (14)
3-dimensional
                                           f-Kenmotsu
manifolds with the Schouten-
van Kampen connection
Let M be a 3-dimensional f-Kenmotsu manifold with the Schouten-van Kam-
pen connection. Then using (7) and (8) in (4), we get
                 \tilde{\nabla}_X Y = \nabla_X Y + f(g(X, Y)\xi - \eta(Y)X).
                                                                      (15)
Let R and R be the curvature tensors of the Levi-Civita connection \nabla and the
Schouten-van Kampen connection \nabla,
    R(X,Y) = [\nabla_X, \nabla_Y] - \nabla_{[X,Y]}, \quad \tilde{R}(X,Y) = [\tilde{\nabla}_X, \tilde{\nabla}_Y] - \tilde{\nabla}_{[X,Y]}.
Using (15), by direct calculations, we obtain the following formula connecting
R and R on a 3-dimensional f-Kenmotsu manifold M
\tilde{R}(X,Y)Z = R(X,Y)Z
              +f^{2}\left\{g(Y,Z)X-g(X,Z)Y\right\}
                                                                              (16)
              +f'\{g(Y,Z)\eta(X)\xi - g(X,Z)\eta(Y)\xi + \eta(Y)\eta(Z)X - \eta(X)\eta(Z)Y\}
We will also consider the Riemann curvature (0, 4)-tensors R, R, the Ricci
tensors \tilde{S}, S, the Ricci operators \tilde{Q}, Q and the scalar curvatures \tilde{\tau}, \tau of the con-
nections \nabla and \nabla are defined by
     \tilde{R}(X, Y, Z, W) = R(X, Y, Z, W)
                         +f^{2}\{g(Y,Z)g(X,W) - g(X,Z)g(Y,W)\}
                         +f'\{g(Y,Z)\eta(X)\eta(W) - g(X,Z)\eta(Y)\eta(W) (17)
                         +g(X,W)\eta(Y)\eta(Z) - g(Y,W)\eta(X)\eta(Z)\},
             \tilde{S}(Y,Z) = S(Y,Z)
                          +(2f^{2}+f')g(Y,Z)+f'\eta(Y)\eta(Z)),
                                                                      (18)
                 \tilde{Q}X = QX + (2f^2 + f')X + f'\eta(X)\xi,
                                                                      (19)
                           \tilde{\tau} = \tau + 6f^2 + 4f',
                                                                      (20)
respectively, where \tilde{R}(X, Y, Z, W) = g(\tilde{R}(X, Y)Z, W) and R(X, Y, Z, W) =
g(R(X,Y)Z,W).
Projectively flat 3-dimensional
```

Kampen connection. From (30), we have

 $\tilde{R}(X,Y)Z = \tilde{S}(Y,Z)X - \tilde{S}(X,Z)Y + g(Y,Z)\tilde{Q}X - g(X,Z)\tilde{Q}Y.$ (31)

Using (17), (18) and (19) in (31), we get

```
R(X,Y)Z + f^2\{g(Y,Z)X - g(X,Z)Y\}
   +f'\{g(Y,Z)\eta(X)\xi - g(X,Z)\eta(Y)\xi + \eta(Y)\eta(Z)X - \eta(X)\eta(Z)Y\}
= S(Y,Z)X - S(X,Z)Y
                                                                         (32)
   +(4f^{2}+2f'+\frac{\tau}{2}+f^{2}+f')\{g(Y,Z)X-g(X,Z)Y\}
   +f'\{\eta(Y)\eta(Z)X - \eta(X)\eta(Z)Y\}
   +(f' - \frac{\tau}{2} - 3f^2 - 3f') \{g(Y, Z)\eta(X)\xi - g(X, Z)\eta(Y)\xi\}.
```

Now putting $X = \xi$ in (32), we obtain

```
R(\xi, Y)Z + (f^{2} + f')\{g(Y, Z)\xi - \eta(Z)Y\}
= S(Y, Z)\xi - S(\xi, Z)Y
   +(4f^{2}+2f'+\frac{\tau}{2}+f^{2}+f')\{g(Y,Z)\xi-\eta(Z)Y\}
                                                                   (33)
   +f'\{\eta(Y)\eta(Z)\xi-\eta(Z)Y\}
   +(f'-\frac{\tau}{2}-3f^2-3f')\{g(Y,Z)\xi-\eta(Z)\eta(Y)\xi\}.
```

Using (10) and (14) in (33), we get

```
0 = S(Y,Z)\xi - S(\xi,Z)Y + (4f^{2} + 2f' + \frac{\tau}{2} + f^{2} + f')\{g(Y,Z)\xi - \eta(Z)Y\}
        +f{}^{\scriptscriptstyle |}\{\eta(Y)\eta(Z)\xi-\eta(Z)Y\}
                                                                                                   (34)
         +(f'-\frac{\tau}{2}-3f^2-3f')\{g(Y,Z)\xi-\eta(Z)\eta(Y)\xi\}.
```

Taking the inner product with ξ in (34), we have

 $0 = S(Y,Z) + 2(f^2 + f')\eta(Y)\eta(Z)$ $+(2f^{2}+f)\{g(Y,Z)-\eta(Y)\eta(Z)\},\$

which gives that

 $S(Y,Z) = -(2f^{2} + f')g(Y,Z) - f'\eta(Y)\eta(Z).$ (35)

Thus M is an η -Einstein manifold with respect to the Levi-Civita connection. Using (35) in (18), we obtain

 $\tilde{S}(Y,Z) = 0.$

(36)

The Schouten-van Kampen connection on M is given by

$$\tilde{\nabla}_{e_{1}}e_{3} = (-\frac{2}{z} - f)e_{1}, \qquad \tilde{\nabla}_{e_{2}}e_{3} = (-\frac{2}{z} - f)e_{2}, \\
\tilde{\nabla}_{e_{3}}e_{3} = -f(e_{3} - \xi), \qquad \tilde{\nabla}_{e_{1}}e_{2} = 0, \\
\tilde{\nabla}_{e_{2}}e_{2} = \frac{2}{z}(e_{3} - \xi), \qquad \tilde{\nabla}_{e_{3}}e_{2} = 0, \\
\tilde{\nabla}_{e_{1}}e_{1} = \frac{2}{z}(e_{3} - \xi), \qquad \tilde{\nabla}_{e_{2}}e_{1} = 0, \\
\tilde{\nabla}_{e_{3}}e_{1} = 0.$$
(42)

From (42), we can see that $\tilde{\nabla}_{e_i} e_j = 0$ $(1 \le i, j \le 3)$ for $\xi = e_3$ and $f = -\frac{2}{z}$. Hence M is a 3-dimensional f-Kenmotsu manifold with the Schouten-van Kampen connection. Also using (41), it can be seen that $\tilde{R} = 0$. Thus the manifold M is a flat manifold with respect to the Schouten-van Kampen connection. Since a flat manifold is a Ricci-flat manifold with respect to the Schouten-van Kampen connection, the manifold M is both a projectively flat and a conharmonically flat 3-dimensional f-Kenmotsu manifold with respect to the Schouten-van Kampen connection. So, from Theorem 1 and Theorem 2, M is an η -Einstein manifold with respect to the Levi-Civita connection.

References

- [1] Blair D. E., Contact manifolds in Riemannian geometry, Lecture Notes in Mathematics Vol. 509, Springer-Verlag, Berlin-New York, 1976.
- [2] Bejancu A. and Faran H., Foliations and geometric structures, Math. and its appl., 580, Springer, Dordrecht, 2006.
- [3] Goldberg S. I. and Yano K., Integrability of almost cosym*plectic structures*, Pacific J. Math., **31**(1969), 373-382.
- [4] Friedan D., Non linear models in $2+\epsilon$ dimensions, Ann. Phys., **163**(1985), 318-419.
- [5] Ianuş S., Some almost product structures on manifolds with linear connection, Kodai Math. Sem. Rep., 23(1971), 305-310.
- [6] Janssens D. and Vanhecke L., Almost contact structures and curvature tensors, Kodai Math. J., 4(1)(1981), 1-27.

 $H = \ker \eta, \quad V = \operatorname{span}\{\xi\}.$

(1)

(2)

(3)

(4)

(6)

(7)

(8)

We can always choose such ξ and η at least locally (in a certain neighborhood of an arbitrary chosen point of M). We also have $\eta(X) = \varepsilon q(X, \xi)$. Moreover, it holds that $\nabla_X \xi \in H$. For any $X \in TM$, by X^h and X^v we denote the projections of X onto H and V, respectively. Thus, we have $X = X^h + X^v$ with

 $X^{h} = X - \eta(X)\xi, \quad X^{v} = \eta(X)\xi.$

The Schouten-van Kampen connection $\tilde{\nabla}$ associated to the Levi-Civita connection ∇ and adapted to the pair of the distributions (H, V) is defined by [2]

 $\tilde{\nabla}_X Y = (\nabla_X Y^h)^h + (\nabla_X Y^v)^v,$

and the corresponding second fundamental form B is defined by $B = \nabla - \overline{\nabla}$. Note that condition (3) implies the parallelism of the distributions H and Vwith respect to the Schouten-van Kampen connection $\tilde{\nabla}$. From (2), one can compute

> $(\nabla_X Y^h)^h = \nabla_X Y - \eta (\nabla_X Y) \xi - \eta (Y) \nabla_X \xi,$ $(\nabla_X Y^v)^v = (\nabla_X \eta)(Y)\xi + \eta(\nabla_X Y)\xi,$

which enables us to express the Schouten-van Kampen connection with help of the Levi-Civita connection in the following way [15]

 $\tilde{\nabla}_X Y = \nabla_X Y - \eta(Y) \nabla_X \xi + (\nabla_X \eta)(Y) \xi.$

Thus, the second fundamental form B and the torsion T of ∇ are [15, 16]

 $B(X,Y) = \eta(Y)\nabla_X\xi - (\nabla_X\eta)(Y)\xi,$

 $T((X,Y) = \eta(X)\nabla_Y \xi - \eta(Y)\nabla_X \xi + 2d\eta(X,Y)\xi.$

With the help of the Schouten-van Kampen connection (4), many properties of some geometric objects connected with the distributions H, V can be characterized [15, 16, 17]. Probably, the most spectacular is the following statement: g, ξ and η are parallel with respect to $\tilde{\nabla}$, that is, $\tilde{\nabla}\xi = 0$, $\tilde{\nabla}g = 0$, $\tilde{\nabla}\eta = 0$.

f-Kenmotsu manifolds

Let M be a real (2n + 1)-dimensional differentiable manifold endowed with an almost contact structure (ϕ, ξ, η, g) satisfying

 $\phi^2 = -I + \eta \otimes \xi, \quad \eta(\xi) = 1,$

the Schouten-van Kampen connection

f-Kenmotsu manifolds with

In this section, we study projectively flat 3-dimensional f-Kenmotsu manifolds with respect to the Schouten-van Kampen connection. In a 3-dimensional f-Kenmotsu manifold the projective curvature tensor with respect to the Schouten-van Kampen connection is given by

> $\tilde{P}(X,Y)Z = \tilde{R}(X,Y)Z - \frac{1}{2}\{\tilde{S}(Y,Z)X - \tilde{S}(X,Z)Y\}.$ (21)

If $\tilde{P} = 0$, then the manifold M is called projectively flat manifold with respect to the Schouten-van Kampen connection. Let M be a projectively flat manifold with respect to the Schouten-van Kampen connection. From (21), we have

> $\tilde{R}(X,Y)Z = \frac{1}{2} \{ \tilde{S}(Y,Z)X - \tilde{S}(X,Z)Y \}.$ (22)

Using (17) and (18) in (22), we get

 $g(R(X,Y)Z,W) + f^{2}\{g(Y,Z)g(X,W) - g(X,Z)g(Y,W)\}$ $+f'\{g(Y,Z)\eta(X)\eta(W) - g(X,Z)\eta(Y)\eta(W)$ $+g(X,W)\eta(Y)\eta(Z) - g(Y,W)\eta(X)\eta(Z)\}$ (23)

 $= \frac{1}{2} \{ S(Y,Z)g(X,W) - S(X,Z)g(Y,W) \}$ $+[2f^{2}+f'][g(Y,Z)g(X,W)-g(X,Z)g(Y,W)]$ $+f'[\eta(Y)\eta(Z)g(X,W) - \eta(X)\eta(Z)g(Y,W)]\}.$

Now putting $W = \xi$ in (23), we obtain

 $(f^2 + f') \{g(X, Z)\eta(Y) - g(Y, Z)\eta(X)\}$ $+(f^2+f')\{g(Y,Z)\eta(X)-g(X,Z)\eta(Y)\}$ $= \frac{1}{2} \{ S(Y,Z)\eta(X) - S(X,Z)\eta(Y) + (2f^2 + f')[g(Y,Z)\eta(X) - g(X,Z)\eta(Y)] \}$ which gives that $S(Y,Z)\eta(X) - S(X,Z)\eta(Y)$ (24) $+(2f^{2}+f')[g(Y,Z)\eta(X) - g(X,Z)\eta(Y)] = 0.$ Again putting $X = \xi$ in (24), we get $S(Y,Z) = -(2f^{2} + f')g(Y,Z) - f'\eta(Y)\eta(Z).$ (25)Thus M is an η -Einstein manifold with respect to the Levi-Civita connection. Also using (25) in (18), we obtain $\tilde{S}(Y,Z) = 0.$ (26) Hence the manifold M is a Ricci-flat manifold with respect to the Schouten-van Kampen connection. $\tilde{\tau} = 0,$ $\tau = -6f^2 - 4f'.$ (27) $= R(X,Y)Z + f^{2}\{g(Y,Z)X - g(X,Z)Y\}$ (28) $+f'\{g(Y,Z)\eta(X)\xi - g(X,Z)\eta(Y)\xi + \eta(Y)\eta(Z)X - \eta(X)\eta(Z)Y\}$ $+g(X,Z)\eta(Y)\xi - \eta(Y)\eta(Z)X + \eta(X)\eta(Z)Y\}.$ (29) $\tilde{P}(X,Y)Z = 0.$

Conversely, let M be a Ricci-flat manifold with respect to the Schouten-van Kampen connection. Then from (26), we have which implies that Using (26) in (21), we obtain $\tilde{P}(X,Y)Z = \tilde{R}(X,Y)Z$ Now using (10) in (28), we get $\tilde{P}(X,Y)Z = (\frac{\tau}{2} + 3f^2 + 2f')\{g(Y,Z)X - g(X,Z)Y - g(Y,Z)\eta(X)\xi\}$ Again using (27) in (29), we have Thus we have the following: **Theorem 1.** Let M be a 3-dimensional f-Kenmotsu manifold with respect to the Schouten-van Kampen connection. Then M is a projectively flat manifold with respect to the Schouten-van Kampen connection if and only if M is a

Ricci-flat manifold with respect to the Schouten-van Kampen connection.

Hence the manifold M is a Ricci-flat manifold with respect to the Schouten-van Kampen connection. Conversely, let M be a Ricci-flat manifold with respect to the Schouten-van Kampen connection. Then from (26), again we have (27). Now using (36) in (30), we obtain

 $\tilde{K}(X,Y)Z = \tilde{R}(X,Y)Z$

 $= R(X, Y)Z + f^{2}\{g(Y, Z)X - g(X, Z)Y\}$ $+f'\{g(Y,Z)\eta(X)\xi - g(X,Z)\eta(Y)\xi + \eta(Y)\eta(Z)X - \eta(X)\eta(Z)Y\}$ $= \left(\frac{\tau}{2} + 3f^2 + 2f'\right) \{g(Y,Z)X - g(X,Z)Y - g(Y,Z)\eta(X)\xi$ (37) $+g(X,Z)\eta(Y)\xi - \eta(Y)\eta(Z)X + \eta(X)\eta(Z)Y\}.$

Again using (27) in (37), we have

$\tilde{K}(X,Y)Z = 0.$

Thus we have the following:

Theorem 2. Let M be a 3-dimensional f-Kenmotsu manifold with respect to the Schouten-van Kampen connection. Then M is a conharmonically flat manifold with respect to the Schouten-van Kampen connection if and only if M is a Ricci-flat manifold with respect to the Schouten-van Kampen connection.

An example of a 3-dimensional *f*-Kenmotsu manifold with the Schouten-van Kampen connection

We consider the 3-dimensional manifold $M = \{(x, y, z) \in \mathbb{R}^3, z \neq 0\}$, where (x, y, z) are the standard coordinates in \mathbb{R}^3 . The vector fields

 $e_1 = z^2 \frac{\partial}{\partial x}, \quad e_2 = z^2 \frac{\partial}{\partial y}, \quad e_3 = \frac{\partial}{\partial z}$

are linearly independent at each point of M. Lat g be the Riemannian metric defined by

> $g(e_1, e_3) = g(e_2, e_3) = g(e_1, e_2) = 0,$ $g(e_1, e_1) = g(e_2, e_2) = g(e_3, e_3) = 1.$

Let η be the 1-form defined by $\eta(Z) = g(Z, e_3)$ for any $Z \in \chi(M)$. Let ϕ be

[7] Kenmotsu K., A class of almost contact Riemannian manifolds, Tohoku Math. J., 24(1972), 93-103.

[8] Kon M., Invariant submanifolds in Sasakian manifolds, Math. Ann., **219**(1976), 227-290.

[9] Olszak Z., Locally conformal almost cosymplectic manifolds, Colloq. Math., 57(1989), 73-87.

- [10] Olszak Z., The Schouten-van Kampen affine connection adapted an almost (para) contact metric structure, Publ. De L'inst. Math., 94(2013), 31-42.
- [11] Olszak Z and Rosca R., Normal locally conformal almost cosymplectic manifolds, Publ. Math. Debrecen, 39(1991), 315-323.
- [12] Rosca R., Exterior concurrent vector fields on a conformal cosymplectic manifold endowed with a Sasakian structure, Libertos Math., 6(1986), 167-171.
- [13] Sasaki S. and Hatakeyama Y., On differentiable manifolds with certain structures which are closely related to almost contact structures II, Tohoku Math. J., 13(1961), 281-294.
- [14] Schouten J. and van Kampen E., Zur Einbettungs-und Krümmungsthorie nichtholonomer Gebilde, Math. Ann., **103**(1930), 752-783.
- [15] Solov'ev A. F., On the curvature of the connection induced on a hyperdistribution in a Riemannian space, Geom. Sb., **19**(1978), 12-23, (in Russian).
- [16] —, The bending of hyperdistributions, Geom. Sb., **20**(1979), 101-112, (in Russian).
- [17] —, Second fundamental form of a distribution, Mat. Zametki, 35(1982), 139-146.
- [18] —, Curvature of a distribution, Mat. Zametki, 35(1984), 111-124.
- [19] Verstraellen L., Comments on pseudo-symmetry in the sense of R. Deszcz, Geometry and Topology of Submanifolds, World Sci., 6(1993), 199-209.
- [20] Yıldız A., De U.C., Turan M., On 3-dimensional f-Kenmotsu manifolds and Ricci solitons, Ukrainian Math. J., **65**(5)(2013), 684-693.

$\phi \xi =$	$0, \eta \circ \phi = 0, \eta(X)$	$f) = g(X,\xi), \qquad (5)$	5)
$g(\phi X, \phi Y) =$	$g(X,Y) - \eta(X)\eta(Y)$),	

for any vector fields $X, Y \in \chi(M)$, where I is the identity of the tangent bundle TM, ϕ is a tensor field of (1, 1)-type, η is a 1-form, ξ is a vector field and g is a metric tensor field. We say that (M, ϕ, ξ, η, g) is a f-Kenmotsu manifold if the Levi-Civita connection of *g* satisfy [9]:

 $(\nabla_X \phi)(Y) = f\{g(\phi X, Y)\xi - \eta(Y)\phi X\},\$

where $f \in C^{\infty}(M)$ such that $df \wedge \eta = 0$. If $f = \alpha = \text{constant} \neq 0$ then the manifold is α -Kenmotsu manifold [6]. 1-Kenmotsu manifold is Kenmotsu manifold [7]. If f = 0, then the manifold is cosymplectic [6]. An f-Kenmotsu manifold is said to be regular if $f^2 + f' \neq 0$, where $f' = \xi(f)$. For an f-Kenmotsu manifold from (5) it follows that

 $\nabla_X \xi = f\{X - \eta(X)\xi\}.$

Then using (7), we have

 $(\nabla_X \eta)(Y) = f\{g(X, Y) - \eta(X)\eta(Y)\}.$

The condition $df \wedge \eta = 0$ holds if dim $M \ge 5$. This does not hold in general if $\dim M = 3$ [11].

the (1,1) tensor field defined by $\phi(e_1) = -e_2$, $\phi(e_2) = e_1$, $\phi(e_3) = 0$. Then using linearity of ϕ and q we have

 $\eta(e_3) = 1, \quad \phi^2 Z = -Z + \eta(Z)e_3,$

 $g(\phi Z, \phi W) = g(Z, W) - \eta(Z)\eta(W),$

for any $Z, W \in \chi(M)$. Now, by direct computations we obtain

 $[e_1, e_2] = 0, \quad [e_2, e_3] = -\frac{2}{z}e_2, \quad [e_1, e_3] = -\frac{2}{z}e_1.$

The Riemannian connection ∇ of the metric tensor g is given by the Koszul's formula which is

 $2g(\nabla_X Y, Z) = Xg(Y, Z) + Yg(Z, X) - Zg(X, Y)$ (38) -g(X, [Y, Z]) - g(Y, [X, Z]) + g(Z, [X, Y]).

Using (38), we have

 $2g(
abla_{e_1}e_3, e_1) = 2g(-rac{2}{z}e_1, e_1),$ $2g(
abla_{e_1}e_3, e_2) = 0 \quad ext{and} \quad 2g(
abla_{e_1}e_3, e_3) = 0.$